










Q.(11-13) Hira, Karan, Shakil, Shreya, Rita, and Gita are part of a family.

Hira is brother of Karan and father of Shakil and Shreya. Rita and Gita are

grandparents of Karan.
हीरा, करन, शाककल, शे्रया, रीता और गीता पररवार के सदस्य हैं। हीरा करन के भाई एवं

शककलऔर शे्रया के कपता हैं। रीताऔर गीता करन के दादा दादी हैं।

Q.(13) Who is grandson of Gita if Karan is the female?
गीता का पोता कौन है यकद करन मकहला है?
(A) Karan (B) Hira

(C) Shakil (D) None of these



Find the missing ONE (?)

5 : 35 :: 13 : ?

(A) 324

(B) 342

(C) 221

(D) 208



Find the ODD ONE (?)

(A) 24

(B) 48

(C) 96

(D) 192



Find the missing ONE (?)

(A) 26

(B) 28

(C) 22

(D) 24

H F C 18

I G D 29

E H F ?



Find the missing ONE (?)

13 , 72 , 213 : ?

(A) 11, 60 , 183

(B) 9 , 51 , 150

(C) 6 , 30 , 87

(D) 10 , 33 , 204



Find the TRIANGLE (?)

(A) 34

(B) 32

(C) 28

(D) 30



Find the ODD ONE (?)

(A) 12

(B) 14

(C) 18

(D) 22



Find the missing ONE (?)

62 : 224 :: 73 : ?

(A) 304

(B) 403

(C) 370

(D) 307



A girl introduces a boy as the son of the brother of her 
mother . How is the boy related to the girl ?

एकलड़की एकलड़के का पररचय अपनी मााँ के भाई के पुत्र

के रूप में करती है। लड़का लड़की से ककस प्रकार संबंकित

है?
(A) Nephew

(B) Son

(C) Cousin

(D) Uncle



Find the missing ONE (?)

(A) 198

(B) 196

(C) 184

(D) 182

16 12 6 48

19 14 8 80

24 10 7 ?



Find the missing ONE (?)

3 , 4 , 81 :: ?

(A) 2 , 6, 32

(B) 4 , 4, 1024

(C) 6 , 4 , 1296

(D) 8 , 3 , 4096



Find the missing ONE (?)

_ aabab _ ab _ ab _ bba

(A) bbaa

(B) baaa

(C) abaa

(D) abba



Find the missing ONE (?)

17 , 17 , 34 , 20 , 20 , 31, 23 , ? , ?

(A) 23 , 28

(B) 34 , 20 

(C) 23 , 33

(D) 26 , 23



Find the missing ONE (?)

TVCABLE = 25 : 4

LIGHTNESSEASY = 81 : 16

PRICECOSTLYHIGH = ?

(A) 169 : 4

(B) 144 : 9

(C) 100 : 25

(D) 121 : 16



Find the ODD ONE (?)

(A) 15 , 75

(B) 9 , 63

(C) 6 , 12

(D) 12 , 48


